TR0 FEIFSREIERTHE

A HR) B FAMRF(BF2H)

e 2o 48 184S ER 20F 3B s1BET
aeimirElES BEREREEEREESRE
CEE i i
g triEBRTEESE
178 F ALIEHE 1 7 55 IR S LT ETE | tHES - #HE =it 8
[ —HEFCRBEIS D ER
1. REEIEEDER
1R
SRR ] 20,000 0 0
BHESETHFIE B0,000 0
EHI=E 0 ] 0 0,500,000
Pl by =i 5,500,000
=HEEEh eSS ] 5,100,000 2,800,000 4,500,000
T 7o a7 AFBhRE 1,300,000
THEEERHENE 4,500,000
SHEE = HEIE 1,300,000 2,800,000
EH v O A MR EE T 2,500,000
FHR MR SRS
NS 0 0 0 E02.000
=HYFIE 2,000
D UEE E00,000
BERImiEst 0 5,180,000 2,800,000 14,502,000
reaiEEEA
e 8,015,150 12,337,340 2,095,500 0
i R | 3,010,000 3,010,000 2,550,000
BSSIHEfEM
EEETIE 448,000 448,000 384,000
IEREH
EREETTE A
BREDHESRMERITIER) 530,000 1,587,500 132,500
EEACED 120,000 200,000
=>4 375,600 576,400
WiEEE 405,000 S, 000
BEE 168,000 432,000
AGEFEE 21,560 55,440
HRmiEENE
Ao B e 26,000 105,000
EEREERE 283,000 47,000
g 134,000 ATE,000
mrIEEE 35,000 35,000
iR 1,500,000 1,500,000
FHIH 2N ER
sEEiEE 392,000 20,000
AR
EiL 167,000 203 000
EXE
b 391,000 1,309,000
EATE
HEEESHst 8,015,160 12,337,340 3,006,500 0
SFMHE Se R s M M N2 SB0168,160 S 757,340 S 205,500 14 502,000
EFAETRIERE
L HARE R IiEEE 4 B018,180 S 757,340 S 205,500 14,502,000
2. FERSIEERDER
1R AR
AN 0 0 0 0
R AUVESET 0 0 0 0
ceiEEAEA
EEAERE 0 0 0 0
L AR SHIEEREE ] 0 0 0
L HA—ASIF R B R 1 EE 8,016,160 S 757,340 S 205,500 14,502,000
—ARFCERAEER S 7R £ 5,808,008 S 31,418,576 £ 20,580,290 484,401,775
—HeF R E A RS 513,915,158 S ABETEN1E A 20,085,739 458,003,776
I IFOEEAERAA S 13,915,158 S 3B ETEDTE £ 20,085,730 458,503,775




